
0 2 4 6 8 10

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

Potenz−Exponentialfamilie

u

ρ(
u)

κ
0.5
1
1.5
2

φ=1

0 2 4 6 8 10

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

Potenz−Exponentialfamilie

u

ρ(
u)

φ

0.5
1
1.5
2

κ=1

0 2 4 6 8 10

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

Matern−Familie

u

ρ(
u)

κ
0.5
1
1.5
2

φ=1

0 2 4 6 8 10

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

Matern−Familie

u

ρ(
u)

φ

0.5
1
1.5
2

κ=1

0 2 4 6 8 10

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

Sphaerische Familie

u

ρ(
u)

φ

2
4
6
8


